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/������������( �����!����& ������+����������( �%��-

����� ��*���%���( �������� *�� $������*����� �%�������� $�-

��$�������( ������������ � �����$���� ��$���. 
�������, 
��

*�� ���$������ $���$�������� ��$���� �%�� ���+���� ��$� 4��-

����� ��,�����)� �������-�� �������� ��������� e > dmin – 1, 

������� ����� ���& ��*���%���. ��%�
����� *�$����� �����-

��-�� ���%�
������( $%( �����
����� ���+��� ��$��. 0 ����%&-

���� ���%���-�� 2����������� �%������� $���$�������( �#�

����� ���& �%�
+��� �������� �������������� ������� ��-

$�!���� �������( �������-�� – ��*���%(),�( �*��������&  

� ����( $���$�������(. 

*���� � �	������
 ������	��� !������
 � �������� �����!  

� ���	� ���	���! ����� �!, ��� ������	, ��
 �����	����
 ������	�

�	������� ���	� ���� ���	������  �	�	��������� ����
���������

�	��. &������� � ������ �, ����� � � ��� �����
	��� �	�	
��!

����� , 
��
���
 ��
	� ����
�������	�	 �	��, ��
	� ���� ���	� �	-

�	��! ����� � �	��� (���������! ���	��� 	� �	���	����
 � ���	��-

�	����
 [1]. ,��	�	��� ���	 ������� �	 ��
	�� ���� �	��, ��
	��

���� �	�	��! ����� �  ��	���� 	����� (��������	��� ���	��� 	�

�	���	����
 � ����������
 	��
	� � ����� �! �	������
 ������	�	

!������
 ���	� ���� ��  �������! �����! (*,2") 
��� ���������

� �������-�! ��
������
! ���	�	� [1, 2, 3, 5, 6]. & ����	� ������ ���-

� ���������
  ��	�� �	������
 (��������	��� ���	��� � ��������-

��
 	��
	� (�������
) �	�	� 2�  ����, �!	�
-�! � �	���� ���! ��-

��! ����������! �	�	� *,2", �� ���� ��������������	�	 �	�
	��

��	���	��	�  ������ � �����������
  ��	���� 	����� ����� �	�����-

����	 ������� �! 	��
	� �������
 �
���� ������� e = dmin – 1. �����
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�� � 
��	 �	�����	, ��	, ��� 	��
 �� ��-����	����� ������� 2� -

 ���� [4], 	������
�-�� �������
�-�� ��	�	
�	��� �	�� �	 ������-

�	 �  ��� ����	 � �	�	�	 � �����	
��� dmin, ��-������� ���	�	���

�	 
������ 	��
	� �������
 �����	����, 
	����� e = dmin – 1, �	�	-

���  	��� 
��� ���������� ��� ���������� ����
	��	�	 ���	��� �

���	���	����
 [3, 5, 6]. <��� ��������� 	����� ���	
��	��� �����-

�	� ���� 	��
	� ��� ���������� ����
	��	�	 ���	��� � � �	������

(��������	��� �	�	
��! ���	��� 	� � ��������� � 
��	�� � ���	-

��� � � ����������
 ��������.  

��������� ��������	��� ���� �*+,. "���������� �	�

*,2" ������	��� � ���� �	�	����	��� ���! �	�	�: ��������� �	-

�	  (�	�	 ���	��) 
��
���
 ����������� �	�, �	��� ����������	 �	-

�� ����������
 ��������	 � ����	 ���	������ ��  �������! �����!

� ���� �	����	��	�	 �	���	�
 CRC/ECC (���. 1), � ������ �	�	 

(�	�	 ��	�
��)  
��
���
 �	� 2�  ���� � �������� � ��	���  �	

�	���	 . %	��� ����������	 �	�� ��
	���� � ���� � 	
��������
  

� ����������
 	��
	�, �	��� �������	 �	�� ��
	���� � ���� � ��-

��������
 ��������. &������ �	�  	��� 
��� ��
��� ��  �	������

����������! (;*%) ��� �����	��! (:*%) �	�	�.  

���. 1. *�������� �	 �!	���	����	�	 �	�� *,2"

,� ���. 1 ������������ ��������� �	�	�	� ������ ���������	�	

�	�� *,2" ��  ������	 ����� � ������ �	�	 2�  ���� (�	�	 

��	�
��), � ��������� �	�	  (�	�	 ���	��) 
��
���
 ��������	

�������� ��. �	�	
��
 �!� � ������	���� � � 	����	���	�����!

����	��!  ������! ��!�	�	��� RAID-2. 

al,2

al,3

al,m

al,1

cl,

cl,2

cl,n-m

*���	�� c ��	���	��� � ����
�� � m+1..n

"��	� ���	���� ����	�� �	�.����� 1..m

��	���	���� ����
�� CRC/ECC "��	� ���	���� ����� ����	�	�  

l-
 �	�	��
 ������ �������	 �	�� ���������	�	 �	�� �� l-! 
��	� ����	�	� �����

1-� ����	� (���	� �-

��	����) 

2-� ����	� (���	� �-

��	����) 

n-� ����	� (��	���	�-

���) 

m-� ����	� (���	� �-

��	����) 

m+1-� ����	� (��	��-

�	����) 
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�������� ���	�� ��$�� ����	�����	� �$�������� ������

$����	�
. '������� ������ 	��� ����� � �����	��� ������� �!

�	 
������ ����	�	� �������
 	� ���� ��	���	��	�  ������ ��


���!�������	�	 ���������	�	 �	��, ���	����� 	�	 � *,2". &�
�-

������ � 	
	��	������ ���	�	 ���	��� �	������� �� �	������	 

��� ��� �	��, ���	���	����	�	 �� � ��� ���������� *,2" �� ��
-

��!  �������! �����! – �������	 �����	�	�	 (:*%) �	�� (18,12,4).  

%�� �������	, ���	����� �� �	� ��������	����	 �������
��

	��
�� �������
 �����	���� �	 e = dmin – 1 = 3, �	 ��	�	
�� ������-

�
�� � ���	�	��� �	 
������ �����	���� 4 � 5, ��	 
��	 �	��������-

�	 � !	�� �����������! ��������� *,2" � ����
	��� ���	��� 	 

���	���	����
. /�	 	
���	����	 �� , ��	 ��� ����������� ��������

�� �������� �	� 	���� �	����� � 	��
�� �, � �� ����	  �	������

��� (�����	 :����	� 	��
��)  �  	�� ��
����� �	���	 �� ����, �	-

�	��� �		���������� 	���������	 � �������. ���� 	��� �	��	
���

��	���� ���	���	����
. 

$	����� , ��� ���������� ����	�	� � ����� �	������ 	��
��

���������
 � i ����	��!, 	��	�
-�!�
 � 	��	� �	�	�	� ������ �����-

����	�	 �	�� (� . ���. 1). +	 ���� �	��� ���	���	����
 �������	 �	��

����	���	 ���	� �	 ����� ��� ���	��	������ (��� �� ����� �� �	-

�� � �������
). +	��� � ����	 �	�	�	 ��	�� ����������	 �	�� 
�-

��� ��!	�����
 i �� �	�	� �������
 � �	����
!, �		���������-�!

�	��������� ����	�� . '
	����� (�	� ����	� 	��
	� �������


��� ei, � ���������  � 
��� �������� ��	  ���	�. ,�	
!	�� 	

������, ��	 ��
 �	���	�
 ���	���	��� �	��� ����!  �������! ���-

�	� ���	�������
 ����� �	�� CRC/ECC, �	�	��� 	
���������� ���	-


��	��� ��	
��������
 	��
	� �� ���� 10
–12

...10
–14

. �	(�	 � ���	-


��	���� �	
�����
 	��
	� ����!	�� � 
�����	 ��������, �	����-

��! �	 � 	 	��
	� �������
 �	 ��������� �	�	�	 ��	��,  	��	

�����
����. +	���  	��	 ���� �������� ���� ��	���� ���	���	����


�	�� ��	�
�� ��� ����������� 	��
	� � ������ �	 �������
 � � ���-

����, ��	 	��
�� �	����	�	���� � �	����
!, �		���������-�! ����	-

�� ei, � ��� 	�������� �� �	�� �	�	�	�	 ��	�� 
��
���
 ������� �.  

�	���� , ��	 � (�	 ������  �  	�� ���	���	���� �������

�����	 �	�	 ���	���	����
 ��
 ����������
 	��
	� �������
. $�


�	�� � ����	 ���	� ���	���! ����
�	� m � ����	� ��	���	��	�

����� k = m – n ����	 � �������� �����	 � �		���������� � ������ 

2
m
/n ����	�	� 	��
	�. ��� ��
	�� � ������ � 	��
�� � �	
������  



89

� �	�	�	 ��	�� 	��
	� �����	��� s > [dmin – 1]/2 ��������	����	 ���-

�	��� � ����������	 � ����	�������� �����	 �, ��� ��� �� ����	

 �	������ �	 
������ ����	�	� 	��
	� ��
������
 ���
	��� ���	
�-

��� ����	�, � ��-�� ��� ������ ���. & �	 �� ��� 
, ���� ���	����

�������� �	����� � �����	 	 ������� � �� �	�� � � �	�����, �	 �-

������ ��� ���	��	������, �	 �� ����	  �	������ ��� (�����	 :����	�

	��
��)  	��	 ��
����� �	���	 �� ����	��, �	�	��� �		����������

 ���� ei. /�	 ������	 �	��	�
�� � ������� ��� ���	��� ��	���������

�������, 	�	
���	 ��
 ����	�	� 	��
	� �������
 �����	�	� �����	-

���, �� ��������-�� dmin + 2. +	��� ��
 ���������� ���	��� � ��-

��������
 �������� �	����	��	 � ��� ��
	 ����������� ���! �����

��
���� � �����	 � �, � �	�	�	� 	��� �� ������ 
���� �	 
���-

���  ��	�, ��	�� �� ������  – �������
 �����	 	�, � � 
�����! 
�-

��� ���	 �� �	 
������ ����	�	� �������
, ��
	 ��	��������� ���-

��	 � ���� ������ ��
 ����	�	 �������
  ����. 

& �������� ������������  	��	 �����	���� �����
	������ ��-

�	�� � ����
	���� ���	��� , ����
����-�� ��� �	 
������ ����	-

�	� �������� ������  ���� �	 ��! �	�, �	�� �����	 �� ������ ���-

�� ���� [3, 5, 6]. �	��	 �	������ �����, ��	 ��	
!	�� � � �	���-

�	��� �������	 ������� 	��� 	��
	� ��� �	������	 ��������

 ���� 
��
���
 	��������� �	��	����� �������� �����	 � � �		����-

�����-�� ���	�� ��
����. 

���. 2. ���� ��� ��
���� �		��������
 �����	 	� ����	�� ��������

$�
 ����
��	��� ��	�� 	�������� ���	���	����� 	������	�

 ��	���� 	����� ����� �	���������	 ������� �! 	��
	� �������


�
���� ������� e = dmin–1 ��
 �	�� (7,3,4). $�
 (�	�	 ��	
!	�� 	 �	-

������� ��
����, ���� ��� �	�	�	� ����������� ���� (���. 2). +�
����
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 ��	� 	��
	� �������� � �		���������-�! �����	 	� �	�����
���


��� �	 	-� ���������	 ��������	� ��	���  �. 

& ������������	� ��
����  	��	 ������� �	���	��	� ��������-

����� �����	 	� ��
 ����	� �� �	 
������ ei, �������	� � ����	 

��	�
��. &�	�	� ��	�
�� ��������� �� ������� �	������ – �	��������

�������� �����	 	� ��
 �����! �	 
������ 	��
	� ������ 	��	�	 ei. 

�	��	 �� �����, ��	 ���	�	��� �� �	 
������ �������� �����	��� 4 

(��� dmin = 4)  	��� 
��� ����������. +����� ��	�
�� �	�������� ��� ei

(�����	��� 	��
�� �������
), � ������
 � �������	�	 ��	�
��, 	����-

�������
 �����	 �: � 4- ��	�
�� �����	 ����� 1 (0001), � �
�	  –  

2 (0010) � �.�. & 
�����! �������� ����	�� 	��
	�, �		���������-��

(�� �����	 � . 1��� ��
 	��	�	 �������
 �����	 � ��-�������


	���� 	��	�	 ����	�� 	��
	�, �	������� �	�����
, � ��	
!	�� 	 	�-

�������
 	� ���	���	����
 ��
 ����	�	 ei. ������� ��	�	��� �������

�	�������� ��������� �! 	��
	� �������
 ����	� �����	��� ��
 ��-

������ 	�	 �	�� (��
�. 1). 

+�
����  1 

%	�������	 ��������� �! 	��
	� �������
 ��
 �	�� (7,3,4) 

%����	��� 7 6 5 4 3 2 1 

4���	 	��
	� ����-

�	��� � > dmin – 1 
1 7 21 35 0 0 0 

4���	 ���������-

 �! 	��
	� ���

���	���	����� ��-

��
	��	�	 ���	���-

 � ���	���	����


1 7 21 7 0 0 0 

�	�������� ���������� �	��	�
�� ������� ���	� 	 �����		
-

����	��� ���	���	����
 ����
	��	�	 ���	��� � ���	���	����
 ��


�	�� (7,3,4). 

,$$������	�� -##�����	�� ���������� ����������	�
 ��


�������		�� �	��	�� �����. ���� 	��� ��������, �	��� �������

�	� 2�  ���� 
��
���
 ��	�	����� . /�	 	�������, ��	 �	�������	

��� (�����	 : ����	� 	��
��) �	���-����
 �	 ��������� � �	��� 

�	�	 . �	��	 �����!$��&, ��	 ��� (�	 ���	
��	��� �	������  

� 	��	� ���	�� ��
���� �����	 	� ����� � ��������
. $	������ (�	

�����������  	��	, �	������� ����	 �	� 	���! �	 
������ ����	-

�	� 	��
	�, ��	�����	�
�-�!  ���� ei, ��� 	�����	�	 ����� �	 -
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������ �����	 	�. +��, ����	 �����	 	� ����	 2
K
, ����	 �	 
���-

��� ����	�	� 	��
	� ��
  ���� ���	 W ����	 �
=

W

i

i

N
C

1

. ,������	 ��-

 �����, ��	 ��� � �������� N (�� ��  � ��� �� ��	�	���	�����	

� ��������
, �� �� � � �����
 ���	
��	��� �	������. 

������� ���������� ������	����
 ��	�	����	�	 �������	 �	-

�� :*% (18,12,4) ��� �	 	-�  ��	���� 	����� ����� �	���������	

������� �! 	��
	� �������
 �
���� ������� e=dmin – 1, 	�����
 ���-

���� ��
  ��	���	
���! 	��
	� ���	�	� �����	��� (��
�. 2). "�!	�


�� ���������	� �������,  	��	 �
������
 � ��-�������	 ���������

��	�	
�	��� ���	���� �������
�� 	��
�� �������
 � ���	�	 �����-

�	�� 	� dmin �	 dmin + 2. ����� �� � 
��� �������� � ��	��������	��-

�� �	� ���, �	��	�
�-�� �	������ ��������� 	����� ���	
��	���

����������
 	��
	� [5], �	�	��� �	��	���� �	�����������
 ������-

���� � ��	�������! ������	� ��
 ��������! ���� �	�	�. +��, ��
 �	-

�� (18,12,4) ���	
��	��� ��	
��������
 	��
�� (�������
) �������-

�
 � 2×10
–13

�	 1,5×10
–14

, �.�. �� �	�
�	�. 

+�
����  2 

%	�������	 ��������� �! 	��
	� �������
 ��
 �	�� (18,12,4) 

%����	��� 10 9 8 7 6 5 4 3 2 1

4���	 	��
	� �����	-

��� � > dmin –1 
43758 48620 43758 31824 18564 8568 3060 0 0 0

4���	 ��������� �!

	��
	� ��� ���	���	-

����� ����
	��	�	 ��-

�	��� � ���	���	����


43758 48620 43758 31824 12292 2072 148 0 0 0

,$$������	�� 
���$���$�� ��$�� ����	�����	� �$�����-

��� ������ $����	�
 �� ���� ��������	�% �������. <��	 �� �-

���	, ��	 ���	
��	��� ����������
 	��
	� �������� ���	�	� �����	-

��� (�	 dmin + 2) � ���	�	�	� ������� ������� 	� ��
	�� ��	���	��	�

 ������ ��	�	����	�	 �	��. �	��	���� � ��������! ���	�����! �	

��	��� �	���	����
 �	�	
�	�	 ������	����
 �� ��	�	���	��, � 	�-

��������� ���	 ������� �	 ��
	�� ��	���	��	�  ������ ��
 ��	�	-

�����! �	�	� :*%, ��
	���-�! � ������ �	 �������
 �, 
��	 ��	��-

���	 (������ �������	� ������	�����. $�
 �	���� ���
	��� (����-

����	� ��������� ��	���	��	�  ������ 
��� �������� ��	���  �, 

����
����-�
 ��� ��������  ����� � ���	��
�-�
 �	����� �����
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���������
� �! 	��
	� �������
. ���������� ��
 ��	�	����	�	 �	��

������������ � ��
�. 3. 

+�
����  3 

%	�������	 ��������� �! 	��
	� ��
 ����	����! �������	�  

��	���	���!  ����� �	�� :*% (18,12,4) 

%����	��� 10 9 8 7 6 5 4 3 2 1 

4���	 	��
	�

�����	���  

� > dmin –1 

43758 48620 43758 31824 18564 8568 3060 0 0 0 

4���	 ����-

����� �!

	��
	� ���

���	���	�����

����
	��	�	

���	��� � ��-

�	���	����


��
 ��	���	�-

�	�  ������, 

�	�����	� ���-

����� �	��
�

���-�! ��	�
-

�	� �����

43758 48620 43758 31824 12292 2072 148 0 0 0 

4���	 ����-

����� �!

	��
	� ���

���	���	�����

����
	��	�	

���	��� � ��-

�	���	����


��
 ��������-

�	 ��������

 ������

43758 48620 43758 31824 9356 1456 104 0 0 0 

�	��	 ������� �����	�	�����, ���
��-�� ����������	 �����-

�	����
 � �	������������, ��	 ���	
��	��� ����������
 	��
	� ��


��	�	�����! �	�	� �� ����, �� 
	���� ������� �	�	�	� �����	
���

 ���� ��	�
�� � ��	���	��	�  ������. "�� � ��	�� �, ��� ��
	��

���� ��	���	��	�  ������ �����		
����	 ��������� ������ ����  

� ��	�	���� ������������� ������ ���! �������	�  �����. ,��������

� ��	��� ����	������ ���  ����� �������� �� ���. 3. 
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0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 1 

0 0 0 0 1 0 0 0 0 0 1 1 1 1 1 1 1 0 

0 0 0 1 0 0 0 1 1 1 0 0 0 1 1 1 1 0 

0 0 1 0 0 0 1 0 1 1 0 1 1 0 0 1 1 0 

0 1 0 0 0 0 1 1 0 1 1 0 1 0 1 0 1 1 

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 

                  

         �         

                  

0 0 0 0 0 1 0 1 0 1 0 0 1 0 1 0 1 1 

0 0 0 0 1 0 0 1 0 1 1 1 1 1 0 1 0 0 

0 0 0 1 0 0 0 1 1 1 0 0 0 1 1 1 1 0 

0 0 1 0 0 0 1 0 1 1 0 1 0 0 1 1 0 0 

0 1 0 0 0 0 1 1 0 0 1 0 1 0 0 0 1 1 

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 

      �

���. 3. ,�	��� ����	������ (�) � ��������� (�) ���  �����

&��	��: 

1. ��	������	� ��	��������	� ������	����� ��	�	�����!

������! �	�	� 2�  ����, ��
	���-�! � ������ �	 �������
 �, �	��-

���	 �	� 	��	��� ����������
 ���	�	��! �	 
������ 	��
	� ����-

�	���, ��������-�� e=dmin – 1.  

2. /�� ���������� �	��������
 � �	������� � ����� �������� �

	����� � �������
�-�� ��	�	
�	��� ����
	��	�	 ���	��� � ����� �

*,2". �	 ���������� (������ ���� ���	
��	��� ������������
 	��
-

�� ��������
 �� �	�
�	� ��� ���	���	����� ����
	��	�	 ���	��� �. 

3. �����	����  ��	���� 	����� ����� �	���������	 �������-

 �! 	��
	� �������
 �
���� ������� e=dmin–1 � �������� ��	��� -

 �, �	�����
�-�
 ��
����  ��	� 	��
	� �������� � �		���������-

-�! �����	 	�. 

4. $��������� ��������� �������
�-�� ��	�	
�	��� ���	-

��� � ���	���	����
  	��� 
��� �	�������	 ��� ���	���	����� 	�-

�� ����	�����! ��	���	���!  �����. 
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